Practice questions
A) MCQ/Objective type questions

1. Which of the following statements is not correct?

Different elements of nature work in close association
with each other.

Presence of nature can only be felt near mountain ranges
and rivers.

Trees are valuable because they give us care and
protection.

Nature is a symbol of selfless care and protection.
2. Which of the following statements is correct?

The trees are humble.

The trees are singing.

The trees are taking rest.

The trees are sleeping.
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3. Which of the following statement is correct?
Trees can be seen nowhere.
Trees can be seen everywhere.
Trees can be seen only in the forest.
Trees can be seen only in the gardens.

4. Which of the following statement is correct?
Nature can be felt.
Nature can be spelled.
Nature can be smelled.
Nature can be tasted.

5. Which of the following statement is correct?
This poem describes tall trees.
This poem describes small trees.
This poem describes green grass.

This poem describes a bush.
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B) Very short answers

1.
2.
3.
4,
b.

Where do the birds retire in the evening?
What are the tall trees watching?

Are the trees behaving like human beings?
What shows that the trees are very tall?
Where do the birds have their nest?

C) Short answers

1. Where can one see trees?
2. Which parts of the trees are called their head and feet?

3. Why do birds move to their homes in the trees?

Secondary Course English — Book 1 15

4. How do the trees stay awake in the night?
5. With whom does the poet compare the tall trees?

D) Long answers
1. Why does poet compare tall trees to noble people?
2. Why do trees are awake in the dark?

E) Do as directed
1. Find the word which rhymes with ‘fall’.
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Write 4 adjectives from the summary.
| like tall trees. (Change the sentence into the past tense.)
Write prepositions from the summary.

Write the past tense of the following words.

a. say b. look C. see d.show
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